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Match #43


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In this city, the Penrose brothers started a company in 1783. Today, the Lismore collection is made here, as is the ball dropped in Times Square on New Year’s Eve. Charles Bacik started the modern company with this name in 1947; it became part of the Irish Glass Bottle company. What is this Irish city, famous for its fine crystal? 

ANSWER: Waterford (Crystal)

2.
Several languages outside Europe have “exclusive” and “inclusive” forms of this subject case pronoun. Sometimes it can be “patronizing,” such as when a doctor asks a patient about his condition. Other times it can be “editorial,” as in many newspaper opinion pieces. John Paul I was the first Pope to stop using it to refer to himself, although many monarchs still use it to express their non-amusement. What is the plural of “I”?

ANSWER: we
3.
It was invented by Edouard Lucas in 1883.  For five discs, it can be solved in a minimum of 31 moves; for three discs, in a minimum of seven moves; and for seven discs, in a minimum of 127 moves.  For n discs, the minimum solution requires one less than two to the n moves.  Name this puzzle involving moving discs of different sizes from one peg to another that is named after the capital of Vietnam.

ANSWER: Tower of Hanoi or Towers of Hanoi
4.
It is a flammable, colorless liquid and it can dissolve both polar and non-polar substances.  It can be produced through the hydration of ethylene and by fermenting sugars with yeast.  Its molecular mass is 46 and its chemical formula is C2H5OH.  Name this compound used in antiseptics, solvents, alcoholic beverages, and automobile fuel.

ANSWER: ethanol or ethyl alcohol (prompt on ‘alcohol’)

5.
This law had its genesis in Thomas Jefferson’s plan to create seventeen new states from some territory relinquished by the original thirteen. It provided for three to five new states in that territory once populations reached 60,000. Slavery was outlawed north of the Ohio River by what 1787 law that created America’s first organized territory? 

ANSWER: Northwest Ordinance
6.
He lived for 20 years after being diagnosed with mesothelioma, writing “The Median Isn’t the Message” about his experience. He coined the term “Non-Overlapping Magisteria” to describe his idea that science and religion couldn’t comment on each other’s realms. What evolutionary biologist believed that evolution occurs in short bursts, an idea known as punctuated equilibrium? 

ANSWER: Stephen Jay Gould
7.
The composer said this work had five movements, but only four are known today. It is possible that a minuet from the Piano Sonata in B-flat is the missing movement. Number 525 in the Köchel (kay-shel) catalogue, it apparently was a small diversion from the composer’s Don Giovanni. Mozart’s Serenade for strings in G major is better known by what name that indicates a small amount of sound is to be played in the evening?

ANSWER: Eine kleine Nachtmusik or A Little Night Music

8.
As it is a pointer to the Southern Cross, it is not visible in most of the Northern Hemisphere. The closest member of this system is a red dwarf that is approximately 13,000 astronomical units from the binary star. This system, located about 4 light years from Earth, is better known by what name?

ANSWER: Alpha Centauri or Rigel Kentaurus
9.
Supporting characters in this play include Menas the pirate, Enobarus, and Lepidus. Shakespeare uses more scenes in this play than any of his others, as the action constantly switches between Sicily, Syria, Athens, Rome, and Egypt. In what play does Octavius emerge triumphant over the title characters, the queen of Egypt and her lover?

ANSWER: Antony and Cleopatra
10.
Taxpayers are allowed to offset with losses up to $3,000 a year of this type of income, and a married couple can pocket up to $500,000 a year if they sell their primary residence. The IRS treats it as long-term and assigns a lower tax rate if the asset was held for more than a year. What type of income is ‘realized’ by selling an asset for a profit? 

ANSWER: capital gain(s)

11.
During the Nara period, this term described a serf that had fled his master’s lands, but it later applied to higher-ranking people. By 1651, there were nearly half a million of them, and they rebelled in the Keian Uprising. In 1701, there was an incident involving 47 of them and Kira Yoshinaka. What term describes a samurai without a lord? 

ANSWER: ronin
12.
This short story’s title character wears earphones, thick eyeglasses, three hundred pounds of metal, and a red ball on his nose, as the 211th, 212th, and 213th Amendments require. He declares himself Emperor, but is shot by Diana Moon Glampers, the Handicapper-General. Everyone is equal in what short story by Kurt Vonnegut? 

ANSWER: “Harrison Bergeron”

13.
The Dhabihha method of slaughter is used to ensure food is this. All scholars agree this condition does not apply to blood, carrion, and carnivores, as there are Qur’an verses explicitly prohibiting eating those items. Haraam is the opposite of what word, which refers to anything permissible under Islam, especially with regard to food?  

ANSWER: halal
14.
He killed one of his crewmen, gunner William Moore, with a thrown iron bucket. He supposedly buried some treasure on New York’s Gardiner’s Island. His crew attacked the Mary without permission; he attacked the Quedah, a merchant ship with French safe-conduct passes. What captain of the Adventure was hanged for piracy on May 23, 1701? 

ANSWER: (Captain) William Kidd
15.
Over seven hundred species of bacteria live in this organ.  It is about one and a half meters long and parts of it include the epiploic appendages, haustra, cecum, and taeniac coli.  It functions to absorb water and store and eliminate waste.  Name this digestive organ also known as the colon.

ANSWER: large intestine (accept colon before mentioned in question)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
It is the name of the level at which the ground intersects a building’s foundation. When it is a percentage, what word represents the slope, especially in reference to an upcoming road? 

ANSWER: grade(s)

1B.
THIS IS A COMPUTATION QUESTION. If A = 26, B = 25, etc., through Z = 1, what is the numerical value of C times X times F?

ANSWER: 1512
2A.
What company, owned and operated by Rupert Murdoch and parent company of the Fox Corporation, acquired Dow Jones & Company and the Wall Street Journal in July 2007?

ANSWER: News Corporation

2B.
What Virginia city, that was home to Planters Peanuts, grew to its current geographic size by acquiring the City of Nansemond in 1974? 

ANSWER: Suffolk, Virginia

3A.
What does HDL stand for when referring to cholesterol?

ANSWER: high-density lipoprotein
3B.
Born with the last name Rousimoff, what wrestler “fought” against Hulk Hogan at Wrestlemania III and was 7 feet tall and over 500 pounds? 

ANSWER: Andre the Giant
4A.
In 1998, NationsBank bought what bank and assumed its name?

ANSWER: Bank of America
4B.
What female flower part consists of a stigma, style, and ovary?

ANSWER: pistil
5A.
THIS IS A COMPUTATION QUESTION. What is the sixth triangular number?

ANSWER: 21
5B.
What short story is about Jim and Della Dillingham Young and their ironic Christmas presents?

ANSWER: “The Gift of the Magi”

6A.
Who defeated Chiang Kai-shek in the Chinese Civil War? 

ANSWER: (Chairman) Mao Zedong or Mao Tse-tung

6B.
By definition, organic chemistry deals with compounds containing what element?

ANSWER: carbon
7A.
Give the term in computer science where two processes each hold resources needed by the other, but are unwilling to give them up.

ANSWER: Deadlock

7B.
While Virgil guided Dante through Hell and Purgatory, what woman guided Dante through Paradise in The Divine Comedy? 

ANSWER: Beatrice
8A.
What three Latin words are a legal term for something indispensable, and literally mean, “without which no”?

ANSWER: sine qua non
8B.
THIS IS A COMPUTATION QUESTION. If x = 4 when y = 9 and maintains that ratio, what does x equal when y = 81?

ANSWER: x equals 36
9A.
Who wrote the incidental music to Ibsen’s Peer Gynt, which contains ‘In the Hall of the Mountain King?’

ANSWER: Edvard Grieg
9B.
Who sculpted The Lion of Belfort and the Statue of Liberty? 

ANSWER: Frédéric Bartholdi or Amilcar Hasenfratz
10A.
THIS IS A COMPUTATION QUESTION. If a triangle has angles measuring 2x degrees, 3x degrees, and 7x degrees, what is the value of x?

ANSWER: x equals 15 degrees
10B.
The mangonel and onager are types of what ancient siege engine whose name comes from the Greek words for ‘to hurl against?’ 

ANSWER: catapault
Third period, 15 toss-ups, 10 points each

1.
This Cabinet Department was established in 1980, and has fewer employees than any other Cabinet department. The Tenth Amendment prevents it from exercising direct control over instruction and curriculum. Bill Clinton gave it power to collect student loans. No Child Left Behind is administered by what Cabinet Department? 

ANSWER: Department of Education
2.
He first appeared in the 1630 play The Trickster of Seville and the Stone Guest. George Bernard Shaw wrote Man and Superman about him. In Mozart’s portrayal, he failed to seduce the peasant girl Zerlina. Lord Byron portrayed him as easily seduced by women. Who is this notorious womanizer of literature and music? 

ANSWER: Don Juan
3.
This novel’s protagonist lives in the Home of the Infants and the Home of the Students before being assigned to the Home of the Street Sweepers. The protagonist angers the World Council of Scholars and then moves to a house from the Unmentionable Times. Equality 7-2521 and Liberty 5-3000 fall in love in what novel by Ayn Rand? 

ANSWER: Anthem
4.
She had a bit part along with a future co-star Rachel Dratch in the 2002 film Martin & Orloff, before starring as Ms. Norbury in a film she also wrote the screenplay for. Her regular spot hosting Weekend Update with Amy Poehler marked the first time that two women anchored the segment on Saturday Night Live. What UVa alumna wrote the screenplay for Mean Girls and portrays Liz Lemon on the NBC show 30 Rock?

ANSWER: Tina Fey
5.
Brazil is its largest producer, followed by the United States and Mexico.  It originated in Southeast Asia, possibly as a hybrid between the pomelo and tangerine.  Types of it include blood, Persian, navel, and Valencia.  Name this citrus tree and close relative of lemons and limes that grows a fruit that shares its name with its color.

ANSWER: orange(s)

6.
This city grew around the Mission Dolores, and William Richardson set up a town at first called Yerba Buena. Its Nob Hill district was home to millionaires like Leland Stanford. It was the headquarters for Levi Strauss’ clothing maker and the Wells Fargo bank. On April 18, 1906, what city began rebuilding after being hit by an earthquake? 

ANSWER: San Francisco
7.
Although none have ever been observed, much less traversed, general relativity cannot rule out their existence.  Types of them include Euclidean, Lorentzian, Schwarzschild, and Morris-Thorne.  They could allow time travel.  Name this feature of space-time that is at least two mouths and a throat forming a shortcut through time and space.

ANSWER: wormhole
8.
THIS IS A COMPUTATION QUESTION. Solve for x.  15x minus 25 equals 8x plus 31, which is equivalent to the equation 7x minus 56 equals zero.

ANSWER: x equals 8
9.
He created the planets of Barsoom and Amtor, basing them on Mars and Venus. He envisioned intelligent pterosaurs called Mahars that lived in a hollow earth in his Pellucidar series. He wrote 24 books he wrote about John Clayton, the Lord Greystoke, and his eventual wife, Jane Porter. Who created the Lord of the Apes, Tarzan? 

ANSWER: Edgar Rice Burroughs
10.
 This website was founded in 1997 by Rob Malda, otherwise known as CmdrTaco (Read as ‘Commander Taco.’) The effect named for this website is a flood of web traffic from this site that brings another website down. Featuring comments to news stories moderated using an integer score and a concept known as karma, what tech news website is known for Anonymous Cowards and its tagline: ‘News for nerds.  Stuff that matters.’

ANSWER: Slashdot.org

11.
Its Seven Sisters are skyscrapers that include the Red Gates Administrative Building. The Central Administrative Okrug is one of this city’s 10 administrative okrugs. The Old Arbat is a popular tourist destination, as are the Bolshoi Theater and Gorky Park. What largest city in Europe is the capital of Russia? 

ANSWER: Moscow, Russia

12.
These can be classified as either sinistral or dextral, based on the direction of motion.  A number of them exist from the Jurassic Period in the Blue Ridge Mountains, though a more common one is active in California.  What this kind of fault, also known as a transverse fault, that exhibits lateral motion in places like the San Andreas Fault?

ANSWER: strike-slip fault (accept transverse fault before mentioned)

13.
While in office, he commuted the murderer Robin’s Lovett’s death sentence to life in prison.  An early investor in NEXTEL, his first political foray was a loss in the 1994 Senate elections to John Warner, but he found success in 2001, prior to announcing he was not seeking the Presidency in 2008. Who is this Democrat, and former Governor of Virginia, who announced he was seeking John Warner’s vacant Senate seat in 2008?

ANSWER: Mark Warner (prompt on ‘Warner’)

14.
In 1975, the New York Times published an obituary of this fictional character after the publication of Curtain. In 1916, he met Captain Arthur Hastings while a refugee from occupied Belgium and then set up a detective office at 56B Whitehaven Mansions in London. Who used his ‘little gray cells’ to solve crimes in novels by Agatha Christie? 

ANSWER: Hercule Poirot (pwah-roh)

15.
Snorri Sturleson gave them extra duties, such as waiting on the tables where countless einherjar (eyen-her-yar) ate and drank. Originally, they were old hags atop wolves; this was replaced by the modern image of beautiful maidens on flying horses. Brynhilde (brin-hil-duh) is the best known of what minor goddesses that chose men who died heroically in battle and brought them to Valhalla?  

ANSWER: Valkyrie(s)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Francis Aston won a Nobel Prize for discovering many isotopes by using this device; also, it made possible John Fenn and Koichi Tanaka’s Nobel Prize win.  Its three main parts are an ion source, a mass analyzer, and a detector system.  Name this laboratory device that is used to measure the mass-to-charge ratio of ions.

ANSWER: mass spectrometer
2.
This movie takes a turn after the protagonist becomes romantically involved with Edie Doyle. Eventually, Father Barry convinces the protagonist to testify publicly, a move which has negative consequences until a climactic fight against mobster Johnny Friendly. The line, “I coulda been a contender” was said by Marlon Brando’s character Terry Malloy in what 1954 movie about dockside mob corruption?

ANSWER: On the Waterfront
3.
THIS IS A COMPUTATION QUESTION. Convert the binary number 1011101 (one-zero-one-one-one-zero-one) into a decimal number, given that it is equal to 64 plus 16 plus 8 plus 4 plus 1.

ANSWER: 93
4.
This verb goes with many prepositions: with ‘away,’ it means to move ahead of another group; with ‘for,’ it means to support; with ‘down,’ it means to receive a salary; with ‘off,’ it means to successfully perform something; and with ‘over,’ it means to move an automobile out of the traffic lanes. What word describes a force that causes motion towards the source of the motion, or is what contestants do in tug-of-war to the rope? 

ANSWER: pull
5.
In the 1980s, their activity was slowed by the FBI’s DipScam operation, but the Internet has made them easier to open. They tend to award excessive credit for ‘life experience’ and have certifications from agencies not recognized by the Department of Education. What institutions do not require actual work to graduate college? 

ANSWER: diploma mill(s) or degree mill(s)

All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

